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Reading Comprehension 30

1) Of the many problems in the world today, none is as wide-spread,
or asold, as crime. Crime has many forms, including crimes against
property, person, and government. There is even aclass of crimes
called “crimes without victims® (e.g., prostitution). Crime, in all its
forms, penetrates every layer of society and touches every human
being. You many never have been robbed, but you suffer the
increased cost of store-bought items because of others' shoplifting,
and you pay higher taxes because of others' tax evasion. Perhaps
your house is not worth as much today asit was afew years ago
because of the increased crime rate in your neighborhood, or maybe
your businessis not doing aswell asit used to because of tourismis
down due to increased terrorism in your part of the world. Whatever
you do, wherever you live, you are avictim of crime whether you
likeit or not, whether you know it or not. 10

(1) Which of the following is not aform of crime?
A. Tax evasion
B. Prostitution
C. Tourism
D. Shoplifting
(2) What does the word “ penetrate’” mean?
A. Destroy
B. Enter
C. Change
D. Cause
(3) Which is the best main idea of the paragraph?
A. Government needs to take actions against crime.
B. Crimeis everywhere and as old as history.
C. Many people try hard to prevent crime.
D. Some crimes are worse and have more victims.
(4) Which of the following is true according to the paragraph?
A. There are different forms and types of crime.
B. Shopping at supermarkets is dangerous now because of the
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increasing crime.

C. Some people don’t mind crime and live happily.

D. Many tourists are robbed when they are away from the safety
of their home.

(5) Which of the following is not true according to the paragraph?

A. Grocery items may become more expensive because of crime.

B. Many people are not aware that they are victims of crime.

C. Houses may lose value because of crime.

D.People of certain occupations are easier target of crime.

2) One theory that integrates diverse findings on hunger, eating, and
weight argues that body weight is governed by a set-point, a
homeostatic mechanism that keeps people at roughly the weight they
are genetically designed to be.  Set-point theorists claim that
everyone has a genetically programmed basal metabolism rate, the
rate at which the body burns calories for energy, and a fixed number
of fat cells, which are cells that store fat for energy. These cells
may change in size (the amount of fat they contain), but never in
number. After weight loss, they just lurk around the body, waiting
for the chance to puff up again. According to set-point theory,
thereisno single areain the brain that keeps track of weight.

Rather, an interaction of metabolism, fat cells, and hormones keeps
people at the weight their bodies are designed to be.  When a heavy
person diets, the body slows down to conserve energy (and its fat
reserves). When athin person overeats, the body speeds up to burn
energy. 10

(6) The passage would most likely be found in atextbook on which of
the following subjects?
A. Psychology
B. Social studies
C. Chemistry
D. Biology
(7) What is most likely the topic of the paragraph following this one?
A. A different theory on body weight
B. Theimportance of a proper diet
C. Therelation between activity and weight
D. How to keep fat cells from enlarging
(8) It can be concluded from the passage that
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. agenetically thin person can easily gain weight
. itisimpossible for genetically predisposed overweight
people to lose weight
C. people don’'t have as much control over their body weight
as they might think
D. humans are genetically designed to be overweight
(9) The author’s attitude toward the subject of weight could
best be described as
A. emotional
B. disbelieving
C. depressing
D. scientific
(10) Thewriter’s purpose in writing this passage is to
A. inform
B. illustrate
C. criticize
D. compare
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3)  Probably the most important factor governing the severity of
forest firesisweather. Hot, dry weather lowers the moisture
content of fuels. Once afire has started, wind is extremely critical
because it influences the oxygen supply and the rate of spread.
Forest type and forest conditions are also important factors.  For
example, fireis more likely to occur in conifers than in hardwoods,
slash-covered or brushy areas are especially hazardous because the
rate at which combustion consumes fuel is proportional to fuel
volume and surface area.

Some fires are caused by lightning; others are caused by people.
Those caused by people may be accidental or intentional
(incendiary). The causes of firein the United States show large
regional differences. Inthe Rocky Mountains more than 70 percent
of the fires are caused by lightening, whereas incendiary fires
amount to only about 1 percent. In contrast, more than 40 percent
of the firesin the South are incendiary, whereas lightening causes
only 1 percent. (10%)

(11) In this passage the author’s main purposeisto
A. argue
B. inform



C. persuade
D. entertain
(12) Which of the following best describes the organization of the
passage?
A. A comparison and contrast of the factors governing forest
firesisfollowed by alist of causes.
B. A description of the conditions affecting forest firesis
followed by a description of the causes.
C. Ananalysis of factorsrelated to forest firesis followed by
an argument against the causes of fires.
D. Several generalizations about forest fires are followed by a
serious of conclusions.
(13) It can be concluded from this passage that
A. there are not many people living in the Rocky Mountain
area
B. there are more fires in hardwood forests than in pine forests
C. winter isthe worst season for fires
D. fire prevention techniques vary from region to region
(14) The paragraph following this passage would most likely be
about
A. the causes of hot, dry weather
B. the various uses of hardwoods
C. methods of controlling fires
D. the geographical differences between the Rocky Mountain
area and the Southern states
(15) The author of this passage would most likely be
A. aforest ranger
B. ameteorologist
C. ahistorian
D. abusiness person

Trandate 40
1) Trandlate the following English paragraph into Chinese  (20%)
The American concept of success has not changed much over the
two centuries of its existence. The average American thinks about
personal successin terms quite different from the rest of the world.
First, it has always meant providing your family with a decent standard



of living with some margin of comfort. Second, it means ending your
life in ahigher and more prosperous position than you began it. To an
American, it is clear that successis the result of hard work,
self-reliance, and is “ God's reward” for American virtue. The lesson
that success lay in your own hands became ingrained because it was
within the reach of any free person. Because Americans have
consistently been “successful” within this meaning of term, they have
not altered this view substantialy.

2) Please trandate the following paragraph into English  (20%)

Composition (30%)

Life often requires people to let go of something. It could be an old car
that costs too much to keep running or arelationship that has turned sour.
It could be an idea that you hold dear or many years or a way of
behavior that no longer works. Or it could be something very special
from your family or culture. Write about one of the things that you had
to give up over the years. How did giving it up make you feel? In what
ways were you able to adjust to the change?



50

50

25

25



25

25

25

30 2

304



25




	93語教碩-英文
	Social studies
	How to keep fat cells from enlarging
	disbelieving

	93語教碩-國文
	93語教碩-語文教學

